Year 12 HSC 2U Mathematics

‘E’xponential, Logarithmic and Trigonometric Functions

Term 2, 2011 | Week 6 Time Allowed: 50 mins ~ Marks: 37

Marks will be deducted fot poor or illegible work
Name: ___ Teacher. HRK GHW RABS CRA

Show all working to gain maximum martks

1.

PART A — Exp. and Log Functions (13 Marks)

VRS SR

Marked by RAB

If log,2=0.35 and log,5=0.57, findlog, 0.4 , 1
Solve (.log‘g x)2 ~log,x=2 3
Differentiate x°log, x with respect to x. 2
a) - Differentiate y = i 1
b)  Usethisresultto find [xe™dx 2

Consider the following graph:

y=khx

-

Determine the exact volume of the solid of revolution formed
when the shaded region is rotated about the y-axis. 4

ulus) (1.

S

PART B~ Trig Functions (non-Calc
T : R Z

2 Marks)

22 R TR

Marke

1. Find the exact value of the following:

3w

a) sin=—— 1
) 4
T
b) tan— . 1
) 4
 2. Solve 2c:osx=—«/§f0r 0<x<2x 2

3. Consider the curve y=1+3sin2x andihe line y=2x

a) Sketch both the curve and the line on the same
axes for 0<x<2x 3

b) How many solutions are there for 2x =1+ 3sin 2x

inthe domdin 0<x<2x 7 1

4. Inthe following diagram AC is an arc of a circle with centre O and radius
10cm and BD is an arc of a circle with centre O and radius 6em.

a) Find an expression for the shaded area in terms of 4. 1

b) Given that the shaded region is 25.6¢m” find the value of 4, 1

¢) Calculate the perimeter of the shaded region. . 2
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